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#include <reg51.h> 00 1 2. 3 4 5 6 7. 8 9
unsigned char code seg7[]={ 0xcd,Oxfb,Oxé4,0x50,0x9§,0x§2,0x8’2,0xf’S,Oxé0,0XQO ¥
unsigned char code scanline[J={0xf7 0xfb,0xfd 0Oxfe} ,

main() P l% I
{ g o a—
char 1,
while(1){
for(1=0 ;1<4;1++) {
P1=0xff 3 c
PO=seg7[i] ; . § :
Pl=scanline[i] ; POg s
delay1ms(1) ; -
) 4 dpe
) (b) CERATSHEIEZER
) = FoEE.
votd delay 1ms(int count) e U 2
{ -1~ i E‘ -1
for(1=0;1<count;++) /15818 3| $ count #F &) b2 ) £
for()=0;)<122;1++),
} 120

g@gy 3=mﬁ< i .
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main()
{  while(l)

i EBl1=0xle:
delaylms(4);
P1=0x5d;
delaylms(4);
P1=0x0b;
delaylms(4);
P1=0x87;
delaylms(4);
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/* ch05 4 3.c -4 B CENEATEIRFBIE|/ERP1.0-3 %f?ﬁﬁr :ib‘i. P2 I CEIRRRES */

.r'l)'J:: Go =
#mclude <reg51.h> /I B, 8051 Eﬁ%%Z%HE%,PZ—I%W
#define SCANP P1 /| EEIBIBIES Port 1 @i
#define SEG7P P2 /I EHEGEIEERIEEH Port 2 @i
char code TAB[11]={ 0xc0, 0xf9, Oxa4, 0xb0, 0x99, /I B = 0-4
0x92, 0x83, 0xf8, 0x80, 0x98, Oxbf }; /| B 5-9,-
#define counts 6 /| BEFEYUE
char disp[counts+7]={10,10,10,10,1,2,3,4,5,6,10,10,10};//----123456---
void delaylms(int); /I BEIEERH
void scanner(char); /] 3 B R B
= T = === == =
main() // Ifiﬁﬁﬁﬂ’é‘
{ chari; /| BEEEY I
while(1) / BEOE.EX—EHRE
for(i=0;i<counts+4;i++) /" B8 count FI5#H. for \BE(SHE 1)BALE
scanner(i); / iBIEE 1 38

"'1_

// EE&T-W*%

ASLTAVAVA /\ PR
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X* Lﬂlilgl FESEAY x*1ms */

void delaylms(int x) /1 FIESEE % 4 A 48
{  inti,j; I EEEMER i)
for (i=0:i<x:;i++) /) BT 8 x ZR.GEE x*1ms
for (j=0:;j<120:j++); // B8 120 2R - FESE 1ms
} /1 FESEE B B S SR
* RETHEHNBEARE xHEST Y/
void scanner(char x) /iRl E R BB
{ char i.j.BCD.scan; /I B Ry
for (i=0:i<30:i++) /IS EE 30 20 i O
{ scan=0xf17; /IR BRIESERD{E 1111 0111
for (j=0:j<4:j++) / imiE 4 B ) 0B
{ SEG7P=0xff: / RABACERRE S (PO LRI ED)
SCANP=scan; /@RS SRUR 4 Ai27T)
BCD=disp[x+j]; // BHRSE x #HSE i (@M= 2 BCD %
SEG7P=TAB[BCD]:; / WHECE A TS
delaylms(4): // FEE 4ms
scan>>=1; /I EETRNEIREISSE
H /I f{ERITE 4 @8 i 306
h // FERIBIE 30X i EE
1 // scanner R BIFSHE
el d 1(3/3 N\ \\ bf = e =e \ 5-49
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- St N\ A=)
61 /16/3}9 / / j / /\\\”*Iﬂﬁg%gﬂﬁi\\\/\ “U / 5-50




z
. %
ﬁru% u%‘)l asen

SHENpES S
AR
%1 68T |
scanner & B
| FEE 4ms
2% T—(BiRBIE
FEE 0.48 #
yes
no
£ 285
scanner &Y
2
B = — IEE 0.48 7
FiER

e

/* ch05-4-2.c - EH1%EEE) 4 (I CENRRT SRR P1.0-3 RIBMBISIK P2 FHTERRRE */

=B

=g ==
#include <reg5l1.h> /I % 8051 BE R Z2IEEH#E. P2-17~19
#define SCANP Pl /I EERIFIBIHEA Port 1 L
#define SEG7P P2 I EERTCEIEETRISE Port 2 @g L

char code TAB[10]={ 0xc0, 0xf9, Oxa4, 0xb0, 0x99, //&Z 0-4
0x92, 0x83, 0xf8, 0x80, 0x98 }./8Y = 5-9

char code disp[2][4]={ {2,0.0.8}, // BATER(FE 0#A)
{0,3.1,5}}: / RER(E 1)

void delaylms(int); /I BEIEERH

void scanner(char); /I iR R

- -y
R —£% = -
'y £y

: D O X q——'\ \\\\\‘_ i v = e\ AT ATA .




maln() /I RS
{ charij; /I EEEH
while(1) /) EmEUE.EX—H7E
{ for(i=0:i<2;i++) // BRI 0.1 5 #f.for ME (ZH#E DA
for(j=0:j<3:j++) /l PR =R
{ scanner(i); // iBIESE 1 348

SCANP=0xf{t; /2=
delaylms(480); // FEE 480x1m=0.48s

¥

} // while ;OB {5 £
h /I ERABR
/=R R I, ======== ————— s
/% JESEE PR 8L FESE Y xx1ms */
void delaylms(int x) // RESEE R B B Us
{ inti,j; /| BEEHEE i,

for (i=0:i<x:i++) [ BT &8 x ZR,IESE xx1ms

for (j=0;j<120;j++); /[l ETE8y 120 28 » FESE 1ms
B q@@@a%ﬁ
A : TN \\‘\ 5 \‘ .‘ N\ | ]
AT ATAVAN ’SUQQ\\_ so= AV, >3

(chOS 4- 2 c) -3

* REFHEHIEBRE  HEAFT ¥

void scanner(char x) /! ﬁﬂﬁ?ﬁﬁug&ﬁﬂﬁ
{ chari.,j,BCD,scan; /| BEEH
for (1=0:1<30;i++) // j%ﬂaa 300 1068
{ scan=0xf7; /I IRIBESEHME 11110111
for (j=0:j<4:j++) / wiE 4 B8 i B8
{ SEGT7P=0xff; /I AR CERBR 28 (Bh LLPA %))
SCANP=scan; /I EEIRIEENRVE 4 ZT)

BCD=disp[x][j]: // BENEE x #1%5 j @HF 2 BCD 1§
SEG7P=TAB[BCD]; / WEECEHETSE
delay 1ms(4): // JEE 4ms
scan>>=1; /I EENEREER
} / BRIZE 4 EEF ;0B
} /I fERIFE 302N 1868
// scanner X H ISR

~

'EE:..I.T S ’; = 5 %-'\‘\ ;___...\1 ‘ .‘ ""\‘1 | -
 JAGEEATEIAVAY N A RN >
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*EERENSIRE S/
char code TAB[11]={

rEESEmRENES
char code disp[10][4]={

/////

0xc0. 0xf9, Oxa4, 0xb0, 0x99,
0x92, 0x83, 0xf8, 0x80, 0x98, Oxff }:

£10.10,10.8}.{10,10.8,10},
£10.8.,10,10},{8.10,10,10},
{8,10.10,0},{8.10.,0,10},
{8,0,10,10},
{8.0,10,5}.{8.0.5.10}.
{8,0,5,1} };

FrESEERE

void scanner(char);

main() == 50 LG

{ char i /I BE 1S
while(1) // while 0 B 815
{ for(i=0:;i<10;i++) // for 30 B RIS

scanner(i); } / iRbE
f’f Eﬁﬁﬁtﬁ

AVATATAVA
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void scanner(char x)
{ char i,j.k;
char scan:

/| BEREER

for(k=0;k<30:k++) /| SRTE 30 RiFbE
{ scan=l; /I RERBERIBE
for(i=0:1<4:i++) /1 for R A 4G
{ j=disp[x][3-i]: /I REE—HBETET
P2=TAB[j]; /| BRNEEENSIE - WL R P2
Pl=-scan; /I BB IREIER
delay lms(4): /I FEE 4ms
scan<<=1; /IR —1{8 i3 68 15 5%

// #6R 10 HE
// ¥R k QB
/| #55E scan R By

.--_-,'.;:_%. 7 K_ —9 ——~nY
R NP\
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